T (200)RHEXTE
& (200)REAMFS
Ng: (234) =2 =1 ERaRR=k=))
.8 MY = A= oy | M5 | wpE
200 Xr=2H X = 16,882,511 15,253,895 1,628,616
230 RENMHS 5,769,511 4,140,895 1,628,616
234 =S 5,684,511 4,137,895 1,546,616
401 AIEHIZLSOHYI 5,684,511 4,137,895 1,546,616
401-01 (Al&HI) 5,663,000 4,123,000 1,540,000
0 RS B4 TEAY
ZF 1,100,000,000 - 21 800,000,000 1100000  800000| 300,000
o HE PRI BAHEIAL)
= 130,000,000 - 213 100,000,000 130000  100000] 30,000
0 A4 FRABAH(EIA)
ZF 1,400,000,000 - 21 800,000,000 1400000  800000| 600,000
o LEHAMDH o LpEx FHIBA
Z& 150,000,000 - J1E 100,000,000 150,000 100,000 50,000
0 ARD HhAX HBBA AALH S
ZF 10,000,000 -JIF 0 10,000 0| 10000
0 HAT ZEAAH SXBA (BRHY)
Z& 100,000,000 -JIZ20 100,000 0 100,000
o HAH HEIA U APTH Hol
%3 350,000,000 -JIF 0 350,000 0| 350000
0 NH=BSsTK BYSA thamE HX
Z& 100,000,000 -JIZ20 100,000 0 100,000
401-03 (A& =2CH 21,511 14,895 6,616
0 RS B4 TEAY
B 3,500,000 - 217 2,000,000 3,500 2,000 1,500
o HE PRI BAHEIAL)
33 936,000 - 21 900,000 936 %00 3
0 B4 FRBA(BIAL)
B 3,500,000 - 217 2,000,000 3,500 2,000 1,500
o LEHAMDH o LHHXFBA
B 1,080,000 - 21 900,000 1,080 %0 160
o HAT ZEAAY SAZ2
ZF 900,000 -JIF 0 900 0 900
o HiAH HEIA U APTA Arg)
B 1,000,000 -JIF 0 1,000 0 1,000
0 NH=BSsTK BYSA thamE HX
B 1,500,000 -JIF 0 1,500 0 1,500




5t (236) Xt 2t 341 (crel ag)
BoE. MY = NS 0 &k 2 M I e
0l & 24

236 Xt 83,000 3,000 80,000

405 KHAHE SHIS 83,000 3,000 80,000

405-01 (KHAFRISHI) 83,000 3,000 80,000
o HIASS [P

23 80,000,000 SR 80,000 0 80,000

237 Z2J|2HI3 2,000 0 2,000

405 KHAHE SHIS 2,000 0 2,000

405-01 (XHaHS SHI) 2,000 0 2,000
0 AT 22 Y

Z& 2,000,000 -JIE0 2,000 0 2,000




